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Who hasbeen appointed the new chairmanofthe | 1, g @ o fFd ey amfss fage oy oftse

Indian Council of Social Science Research
(ICSSR)? (ICSSR) 1 a1 s1eae1 frgem fpen mar €2

B.C. Ganguli

(B) ‘Braj Bihari Kumar
© Jitehdra Mohan

8

©

3. The Great Victoria Degert is located in :

(A) Canada (B) West Africa

(C Australia D)

5. In a cerfhin language KINDLE is coded ae FeTE
ELDNIK, what will be coded EXOTIC ? ) ELDNIK e

@ / CITOXE ®) CXOTIE

(4) CITOXE ®
EXOTLC {O) COXITE (© EXOTLC ®©) COXI\

28-St'atistics 3




6. Pointing to Ajay, Asha said, “His fatheristheonly | g,
son of my grandfather”. How is Asha related to
B) Sister
(D) Daughter
7. Complete the series
4,9, 13, 22, 35,
@A) 57
€ e O
8. Choose the word which best express the me ) /{
of DILIGENT": )
(A) Progressive B) Brilliant
(C) Inventive
9.
meaning of the word ‘DOUB
(A) Famous
(C) Fixed ©O) Important
10.
(B) Arogant
(D) Arougant
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(A) Progressive (B) Brilliant

(C©) Inventive ({O) Hardworking

(A) Arrogant

(C) Arrogent



11.

12.

13.

14.

15.

If A, and A, are independent events the value of
P(Allxz) is :

@ o ® 1-P@y)

© P&y ® 1

Two unbiased dice are thrown, the expected value
of the sum of numbers on upper side is :

@A 35 B 7.0
© 60 ™ 90

An urn contains 5 white and 3 black balls, the
other urn contains 4 white and 4 black balls. An
urn is selected at random and a ball is selected.
What is the probability it is a white ball ?

8 5
@ 3 ® 16
5 S5
© 3 O 1

IfX and Y are independent variables then value of

EXY+Y+1)-EX+DE(Y)is:

A o
® 1
© 2

() None of the above

For binomial wvariate X, n=10 and

P(X=3)=P(X=4),thenvalue of Pis:
@ 311 ® 511

(© 411 o 211
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16.

17.

18.

19.

The probability of getting zero mistake per page 18
e ~4, then probability that a page of book contains
more than two mistakesis:
(A) 13e~4 B 1+12¢74
© 1-13e74 D) 1-12¢74

Negative binomial distribution. N.B. (x: 7, p) for
r=1reducesto:

(A) Binomial distribution
B) Hyper geometric distribution
(C) Poisson distribution

D) Geometric distribution

If X, and X, are independent variates with

X; ~N@®,,0%) and X, ~N(03,0%), then the
distribution of X, — X, is:

@A N8 ~0s,07)
®) N8 -03,02)
© N(@© o2+ o2)

O N(B] —92,0'12+ 0‘%)

The variance of the distribution is always less than
its mean, then distribution is :

(A) Binomial distribution
B) Poisson distribution
(©) Negative binomial distribution

(D) None of the above
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17.

18

19.

o o & e 7w o Y qfid TEd 2R i i
e~4 % o I8 WA ek Tefadt 2
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@A) 13e74 ® 1+12e~4

© 1-13e¢~4 D 1-12e74

RS I FEANB. (x: v, p) ARG r=1A AT
qﬁaﬁh%‘rm%

@ fEE ¥
®) TER AR S
© g
@ TR

R X, T X, D@ REAMF X, ~N@,,07)

T X, ~ N (83,02) WX - X, F AL
@A)  N(6,—6y,0%)

® N(8; -8y,0%)

© N© o2+ od)

D) N -8y,05+ od)
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gl 7 3
20. FortwoeventsAand B P(A)= 3 P(B)= 7

1
P(AB) =g then:

(A A and B are not mutually exclusive but
independent events

(B) A and B are mutually exclusive but not
independent events

© A and B are mutually exclusive and
independent events

(D) Noneofthe abﬁve

In a unimodal distribution mean is smaller than
mode. What can be said about skewness of the
distribution ?

(A) Negatively skewed
(B) Positively skewed
(C) Symmetric

(D) Nothing can be said

The mean of the series is 10 and its coefficient of
variation is 40 percent, then SD of the series is :

A 4 ® 8
© 12 D) 16

Which of the following is not a two dimensional
diagram ?

(A) Piediagram
B) Square diagram
(C) Rectangular diagram

@) Multiple bar diagram

28-Statistics

20.

21.

22,

23.

% weTHl A T8 B o o

P(A)=2. PB)=2, PAB)=~ B, 7

@) 2 TAE A, B sTHEtd T W Eds et
® 2 HeAE A, B safia 2t v @
(© 2 A, B svafsa e wds @i

©) S H § R sft =

T TEE Sed § ageT FI AU e S B A,
T S S I % 9 W 591 el SN HFAT & ?

Q&) IS Jg
B) YR YT
© g

O FB o TE Fe S wWehar

T Gl forent T 10 3R ST T foremol Ui

40 fI9d &1 A 39 4ot = A faEeA §
Aa 4 B 8
© 12 O 16

e | @ o o o fg-foam 16 ¥ 2

@ e

® =ifex

© I o=
@) wgEver oA

P.T.O.



24.

25.

26.

27.

Given N= 1000, (A)=600, (B)=450, (AB)=270
then the attributes A and B are :

(A)  independent
(B) positively associated
(C)  negatively associated

(D) correlated

The mean deviation about mean of g rectangular
distribution over interval (a, b) is given by :

1 1
@ 5 @+h ® S @+b

© %m—m )

If two lines of regression X = —I—IS—Y + ! and

Y = 2X 4+ m are passing through point (— 1, 2) then
the values of I and m are :

o 6w 2
o 09 o (-

The sum of absolute deviation of item is minimum
when measured from :

(A) mean
B) mode
(C) median

{ID) none of the above
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IfE N = 1000, (A) =600, (B) =450, (AB)=270 81 Al
T ATEBR®:

(A) EaA
@)  UAHE FEEH
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D) HEHaH
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28.

29.

30.

31.

The m.gf. of sum of two independent random
variablesis:

A) Meanofthe twom.g.f's.
®B) Sum of the twom.g.f’s.
() Geometric meanoftwo m.g.f’s.

(D) Product of two m.g.f’s.

For Leptokurtic distributions B, is :
(A) lessthan3

(B) greaterthan3

(C) equalto3

D) noneofthe above

Coefficient of variation of some observationisx. If
all the cbservations are doubled it becomes y.x,
thenvalue of yis:

@w» 2 B 12

® (%)

© 1

A hypothesis is said to be null hypothesis :
(@ Itisahypothesisof zero difference
(b) Itisasimpile hypothesis

(©  Tested for possible rejection

Choose your answer from following :

A) | (a) and (b)

®B) (a)and(c)

© (b)and (o)

O (a), (b)and(c)
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32.

The area of critical region dependson:

(A) Size of sample

B) Sizeoftypelerror
(O  Size oftype Il error
(D) Noneofthe above

38. Chisquaretestisused as:
(A) Goodnessof fet
B) Significance of given value of o2
© Both(A)and (B)
(D)  Neither (A) nor (B)

84. Hypothesis H, : 8, =8, based on large samples
from two populations we use test for
significance ;

(A)  t-test (B) z-test
(C chisquare test O  ftest

85. Anestumator t=t(x, ..... x,) for parameter 8 with
bias b(t,,) and variance V(t, ) is said to be consistant
for 0if :

Lt bt)=0 Lt Vit,)=0
(A) o (t) ®) e (tn)
(C© both(A)and(B) (D) noneoftheabove

86. Who gave the method of maximum likelihood
estimation ?

(A) R.A.Fisher (B) KarlPearson
(© J.Neyman (D) Lehman
28-Statistics
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41.

42

43.

44.

45.

If 6 and o are the process mean and standard
deviation then the control limits 8+ 302 are
known as :

{A) modified limits
(B} natural limits
(C) specific limits

(D) none of the above

Vital statistics mainly concern with :

®)
O

{A)  birth

©

death
marriages all the above

The Net Reproduction Rate (NRR) less than one
results:

(A) increase in population
(B)  decrease in population
(C)  nochange inpopulation
{©) none of the above

The ideal index number was suggested by :

(A)  Trving Fisher

B) R.A Fisher

(C) Marshall and Edgeworth B
D) Laspeyers

Seasonal variations are calculated by which of the
following methods ?

(A)  method of moving average
(B) ratioto trend method

(C) leastsquare method

(D) residual method

28-Statistics
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37.

38.

39,

40.

For testing randomness of a series of observation
which of the following test used ?

&) Chisquare test

(B) Signtest

(C) Mediantest @ Run-test

Choose the term which is not related to theory of
testing of hypothesis :

(A) Level of significance

®B) Secondkindoferror

(C) Critical region

©) Minimum variance

Let x;, x5, oveneen x,, be a random sample from

)
N(o, 1), then ;sz‘a ig an unbiased estimator of :

@ e+l ® u?

© w1 O of

Given the probability statement that
P(6.25 < 8 =12.50) = 0.95 which of the following
statements is true ?

The probability that 6 will always be greater
than 6.251is 0.95

A

The probability that 8 will always be less
than 12.501s 0.05

®

(C) The probability that 6 will lie between 6.25

and 12.50is 0.95

none of the above is true

)

28-Statistics
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486,

47,

48,

49.

b60.

@

Long term variation in a time series are called :

trend
(B) seasonal variation
(€) cyclicvariation
(D) random variation

Life table is used for which purpose ?

(A) study of deathrate

(B) studyof birthrate

(C) preparation of population projection by age
and sex

O) studyofmigration rate

The death rate obtained for special part of
population known as:

(A) Vital index

(B) Crudedeathrate

(C) Standardised death rate
D) Specificdeathrate

Main tools in Statistical Quality Control are :

(&) Control charts

(B)  Acceptance sampling plans
(C) Both(A)and (B)

(D) None of the above

Which Index uses quantities of both base and
current year ?

(4) Paasche

(B) Laspeyers

(C) Marshall and Edgeworth
(D) None of the above

28-Statistics
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51

52.

53.

b4.

If the variances of sample mean in simple random
sampling without and with replacement are Vyyop
and Vyrp respectively and e = (Viop/Vip) then:

_n-—1 _N-n
@ e_N—n ® e“N—l
_ N . N
© €= N_1 ®O) " N_a

Stratified random sampling 18 recommended when
strata are :

(A) within homogeneous

(B)  between homogeneous

(© within homogeneous but between
heterogeneous

(D) none of the above

Ifthe variance of strata are unknown, out of the
following allocation which is appropriate ?

(A) Equal allocation

(B)  Arbitrary allocation
(©) Optimum allocation
(D)  Proportional allocation

In stratified sampling the sizes of strata are
respectively 10, 20, 40 and 70. How will you

allocate a sample of size 28 by proportional

allocation ?
@A 2,48 14 ®B 4,2, 8,14
€ 4,14,82 D 8,14 4.2

28-Statistics
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55.

566.

57.

58.

In-astratified random sampling N, =400, N, =200,
N=600and S, = 28,. How will you allocate 120 to

these strata so that V (}St) is minimum :

@A) (24,96 B) (100, 20)

© (20,100)

O (96,24)

A sampling frame is:

(A) method of drawing sample
(B  list of all units of sample
(O list of all units of population

none of the above

)

As the size of sample increases the chances of
human bias minimised in case of :

(A} random sampling
(B) stratified sampling
(C) systematic sampling
(D) purposive sampling

Ratio estimator provides estimator of

population mean.
(A) abiased and consistant
(B) unbiased and consistant

(C) unbiased and inconsistant

none of the above

(8

28-Statistices
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69.

60.

61

62,

In which situations cluster sampling is

appropriate ?

(A) units are situated apart

(B) sampling frame of ultimate stage unitis not
known

(C) units are not easily identifiable

(D) allthe above

Regression estimator will be more efficient than
ratio estimator if :

1 Cy 1 Cy

@ P35 ® <3G
_1 G

© P2 T ©) Byx #R

To get an idea about fertility variation, the method
used is:

@A)
©

Local control B) Randomization

Replication (D)  Uniformity trials

Local control is completely absent in:

(A) Completely randomised design
(B) Randomised block design

(C) Latinsquare design

(D) None ofthe above

In Latin square design local control is used in k
directions. The value ofkis:

@ 1
® 2
© 3
(@) none ofthe above
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64.

65.

66.

67.

:Cr

The plots within randomised block design should
be homogeneous:

(A) withinblocks

B) between blocks

(C) betweentreatments
(D) within treatments
In RBD we always have:

(A) No.ofblocks = No. of treatments
B No.of blocks < No. of treatments
(C) No. of blocks > No. of treatments
None of the above

Y

A 2X2 Latin square design is not used
because :

(&) no,of treatment i§ small

B) degreeoftreatmentisone

(C) no.ofexperimental units are small
O d.f forerroriszero

An experimental unit in research is :

(A) ananmmal

B) afieldplot

(C) agroup of individuals
@ allthe above
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64,

65.

66.

67.

Argfoa® Gea ATFHSTT § @ TH T e

A) A EEHEIH

B) FHTESHETH

€ HRITAR &Y H

O) FTISTARFTH

TF Agieeh Weh fimred 4 :

A) TEl H W& = STERI H @
B) e H T < IYTR) H 4&A
© EI T GEN > YA w qEA
©O) W H H wE T

TF 2 x 2 AfeT ol sifireas o & =6 o St
i

(A) SUERH SR

® WHHHEIEIHRLIT -

© WA Y THE H T HHE

O AR

T STHI & 36 F w9 H yafd g §
@A) THEER

B yETs

© = R

O) IO |t

P.T.O.




68,

69.

70.

In a RBD with t-treatments in r blocks, one
observation is missing. The degrees of freedom of
erroris:

@)
©

r-1 (-1 ®)

D)

r(t—1) ~t
r-2)(t-1) tr—1) -1
Which of the following is primary memory ?

A) ®)
(C) C.D.Rom o

magnetic tape floppy disk

RAM

Which is not an internal command in MS DOS ?

@A)
(© XCOPY

CLS (B) DEL

(D) COPY

-o0o-
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68.

69,

70.

T Igfes® woses sifiswey faan =ifs & Hem
r ¥AM TR W et R AR & R a9, @
Ffe = @A FE

@ @-1Hi-1 ® rt-1-t
© @«-2¢t-1 O te-1)-1
fre 1 v o wafie wfa @2

@A) TRfes ® v feww
© HEIm O ™

A 4 4 %1 W wr.em. 2 9 araieE s R g ?

A ®
© XCOPY D)

CLS DEL

COPY

~-00o-
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